

City of West Allis Matter Summary

7525 W. Greenfield Ave. West Allis, WI 53214

File Number Title Status R-2008-0036 Resolution In Committee Resolution to approve bid of Cornerstone Pavers, LLC for street pavement patching, alley catch basin repair and alley pavement patching in the general area bounded by W. Fairview Ave., W. Morgan Ave., S. 84 St. and S. 124 St., in the amount of \$286, 630.70. Introduced: 2/5/2008 Controlling Body: Public Works Committee Sponsor(s): Public Works Committee ADOPT COMMITTEE RECOMMENDATION MOVER SECONDER AYE NO PRESENT **EXCUSED** ACTION Barczak DATE: Czaplewski Dobrowski 2-5-08 Kopplin Lajsic Narlock Reinke. Sengstock Vitale Weigel TOTAL SIGNATURE OF COMMITTEE MEMBER Vice-Chair Member COMMON COUNCIL ACTION ADOPT MOVER SECONDER NO PRESENT EXCUSED ACTION Barczak DATE: Czaplewski FEB 0 5 2008 Dobrowski Kopplin Lajsic Narlock Reinke Sengstock Vitale

Weigel

TOTAL



City of West Allis

7525 W. Greenfield Ave. West Allis, WI 53214

Resolution

File Number: R-2008-0036 Final Action:

FEB 0.5 200R

Sponsor(s):

Public Works Committee

Resolution to approve bid of Cornerstone Pavers, LLC for street pavement patching, alley catch basin repair and alley pavement patching in the general area bounded by W. Fairview Ave., W. Morgan Ave., S. 84 St. and S. 124 St., in the amount of \$286, 630.70.

WHEREAS, The Board of Public Works reports that it duly advertised for bids for the furnishing of certain materials and the performance of all work required for the improvements in a certain area as hereinafter described; that the bids received as shown on the attached bid report were reasonable and hereby recommends and deems it to be for the best interests of the City of West Allis that the bid of Cornerstone Pavers, LLC for 2008 Project No. 4 be accepted.

NOW, THEREFORE, BE IT RESOLVED By the Common Council of the City of West Allis that the bid of Cornerstone Pavers, LLC for 2008 Project No. 4:

Street Pavement Patching, Alley Catch Basin Repair and Alley Pavement Patching in the general area bounded by W. Fairview Ave., W. Morgan Ave., S. 84 St. and S. 124 St.

for the sum of Two hundred eighty-six thousand, six hundred thirty dollars and seventy cents (\$286,630.70)

be accepted, and the proper City officers are hereby authorized and directed to enter into contractual relations with said contractor for the performance of said work, in accordance with the prices submitted in their proposal and with the specifications of the City of West Allis, and that all other bids received for same be rejected; and,

BE IT FURTHER RESOLVED That said improvements be installed with funding by Bond Funds, Sanitary Sewer Funds and Storm Water Management Funds.

Eng08-04

ADOPTED

FEB 0 5 2008

Paul M. Ziehler, City Admin. Officer, Clerk/Treas.

APPROVED

Jeannette Bell, Mayor

CITY OF WEST ALLIS 2008 Project No. 4 Bid Opening - 1/31/08

STREET CONSTRUCTION

Street Pavement Patching, Alley Catch Basin Repair and Alley Pavement Patching

		Bid Bond 5%		Bid Bond 5%		Bid Bond 5%		Bid Bond 5%		Bid Bond 5%		Bid Bond 5%		Bid Bond 5%		Bid Bond 5%		Bid Bond 5%		Bid Bond 5%	
		Cornerstone Pavers, LLC 712 Russet St. Racine, WI 53405		Capitol Pavers Inc 18005 W Lincoln Ave. New Berlin WI 53146		Snorek Construction Inc. 3830 S. River Ridge Blvd. Greenfield, WI 53228		Arrow-Crete Construction LLC 5483 S. Whitnall Ave. Cudahy, WI 53110		J & A Pohl 17080 Pheasant Dr. Brookfield, WI 53005		D.C. Burbach, Inc. W228 N2762 Duplainville Rd. Waukesha, Wi 53186		Milwaukee General Construction Co Inc 4580 S. 13 St. Milwaukee WI 53221		A.W. Oakes & Son, Inc. 2000 Oakes Rd. Racine, WI 53406		Stark Asphalt Div. Of Northwest Asphalt Products Ind 11710 W. Hampton Ave. Milwaukee, WI 53225		Wilkomm Excavating & Grading Inc. 17108 County Line Rd. Union Grove, WI 53182	
ITEM	UNITS	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL
1 Exploratory Excavation	67 cu. yds.	22.00	1,474.00	40.00	2,680.00		2,010.00	20.00	1,340.00	30.00	2,010.00	31.00	2,077.00	30.00	2,010.00	22.00	1,474.00	26.00	1,742.00	40.00	2,680.00
2 Sodding	200 sq. yds.	7.00	1,400.00	20.00	4,000.00		2,100.00	15.00	3,000.00	15.00	3,000.00	20.00	4,000.00	17.50	3,500.00	11.00	2,200.00	15.00	3,000.00	12.00	2,400.00
3 Concrete Sawing	8,880 lin. ft.	1.40	12,432.00	1.50	13,320.00		12,432.00	1.60	14,208.00	1.45	12,876.00	1.35	11,988.00	1.35	11,988.00	1.50	13,320.00		12,432.00	1.50	13,320.00
4 Pavement Removal	4,540 sq. yds.	5.18	23,517.20	3.00	13,620.00		22,700.00	5.50	24,970.00	6.32	28,692.80	5.50	24,970.00	10.15	46,081.00	10.00	45,400.00	10.30	46,762.00	6.50	29,510.00
5 Curb Removal	290 lin. ft.	5.00	1,450.00	7.00	2,030.00	5.00	1,450.00	5.00	1,450.00	6.00	1,740.00	5.50	1,595.00	2.50	725.00	8.00	2,320.00	4.20	1,218.00	3.50	1,015.00
6 31° Concrete Curb and Gutter	290 lin. ft.	21.00	6,090.00	30.00	8,700.00		5,481.00	22.00	6,380.00	28.86	8,369.40	22.75	6,597.50	23.55	6,829.50	26.00	7,540.00	21.00	6,090.00	35.00	10,150.00
7 7" Concrete Pavement	4,190 sq. yds.	34.95	146,440.50	37.00	155,030.00	36.50	152,935.00	33.00	138,270.00	38.41	160,937.90	39.60	165,924.00	36.67	153,647.30	35.00	146,650.00	46.00	192,740.00	47.00	196,930.00
8 7" H.E.S. Concrete Pavement	350 sq. yds.	42.00	14.700.00	42.00	14,700.00		14,700.00	35.00	12,250.00	55.00	19,250.00	47.50	16,625.00	45.59	15,956.50	41.00	14,350.00	70.00	24,500.00	50.00	17,500.00
9 Pavement Ties	2,940 each	5.30	15,582.00	5.00	14,700.00		11,760.00	6.00	17,640.00	5.00	14,700.00	5.75	16,905.00	4.25	12,495.00	8.00	23,520.00	6.10	17,934.00	10.00	29,400.00
10 Base Aggregate Dense, 11/4"	200 tons	10.00	2,000.00	15.00	3,000.00		2,000.00	12.00	2,400.00	12.00	2,400.00	11.50	2,300.00	12.90	2,580.00	13.00	2,600.00	15.00	3,000.00	30.00	6,000.00
11 3'-6" dia. Storm Manhole (60)	118 vert. ft.	290.00	34,220.00	220.00	25,960.00	220.00	25,960.00	375.00	44,250.00	220.00	25,960.00	220.00	25,960.00	220.00	25,960.00	215.00	25,370.00	225.00	26,550.00	240.00	28,320.00
12 3'-6" dia. Sanitary Manhole (7)	7 vert. ft.	350.00	2,450.00	390.00	2,730.00	390.00	2,730.00	375.00	2,625.00	390.00	2,730.00	390.00	2,730.00	390.00	2,730.00	350.00	2,450.00	400.00	2,800.00	395.00	2,765.00
13 Manhole Adjustment	67 vert. ft.	275.00	18,425.00	360.00	24,120.00	360.00	24,120.00	375.00	25,125.00	360.00	24,120.00	360.00	24,120.00	360.00	24,120.00	250.00	16,750.00	365.00	24,455.00	400.00	26,800.00
14 Install Internal Sanitary Manhole Seals	7 units	150.00	1,050.00	140.00	980.00	140.00	980.00	400.00	2,800.00	140.00	980.00	140.00	980.00	140.00	980.00	250.00	1,750.00	150.00	1,050.00	150.00	1,050.00
15 Manhole Protection Barrier	10 units	190.00	1,900.00	85.00	850.00	85.00	850.00	125.00	1,250.00	85.00	850.00	85.00	850.00	69.00	690.00	75.00	750.00	90.00	900.00	325.00	3,250.00
16 Traffic Control	1 lump sum	3,500.00	3,500.00	5,000.00	5,000.00	15,000.00	15,000.00	5,000.00	5,000.00	7,600.00	7,600.00	10,000.00	10,000.00	14,330.00	14,330.00	19,800.00	19,800.00	2,500.00	2,500.00	12,000.00	12,000.00
			286,630.70	_	291,420.00		297,208.00		302,958.00		316,216.10		317,621.50		324,622.30		326,244.00		367,673.00		383,090.00